

Office of the Principal Govt. Nehru PG College, Dongargarh Dist. Rajnandgaon (C.G.)

E- mail ID – collegedgg@gmail.com , Website – <u>www.qnpqcollege.in</u> **2**: 07823-296011

5.1.1.1 Number of students benefited by scholarships and freeships provided by the Government year-wise during last five years

Governm	ent of C	egister for Scholars								l		
	Sc	holarship Scheme : Post Matri Category : ST Institute Name : GOVT.NEI Academic Year : 2016 - 17				/ •	1114		Sanction			Surran Contractor
Applica	tion ID	Student Name	Gender	Course	Тури	No. of	Rate	Maintenence	Tuition Fee	Other Fee	Tetal Fee	Total Amount
		YAMINEE DHURVE	Female	B. A./Arts/1	Fresh	Month 9	300	Allowance 2700	0	EAC.		
		DHANESHWARI KANWAR	Female	R. A./Arts/I	Fresh	0	300	2700	0	845 845	845	3545
		Omprakash Ulikey	Male	B. A./Arts/I	Fresh	9	570	5130	0	845		
		NIRASHA CHANDRAVANSHI	Female	B. A./Arts/I	Fresh	9	300	2700	0	845	845	5975
		KUMBHA LAL MANDAVI	Male	B. A./Arts/I	Fresh	9	300	2700	0	845	845	3545
	1008638	CHURAMAN KUMAR	Male	B. A./Arts/1	Fresh	8	300	2400	0	845	845	3545,
		RAJESH KUMAR CHANDRAWANSHI	Male	PGDCA/Computer Application/I	Fresh	8	820	6560	0	1380	1380	3245/
		TANUJA DHURVE	Female	PGDCA/Computer Application/1	Fresh	8	530	4240	0	1380	1380	5620-
		SUNEEL KUMAR	Male	PGDCA/Computer Application/I	Fresh	8	530	4240	0	845	845	5085,,
		KU REVTI KANWAR	Female	M. A./Geography/I	Fresh	8	530	4240	0	845	845	5085
	664068	PURAN LAL PURAM	Male	M. Sc./Mathematics/1	Fresh	8	530	4240	0	1015	1015	5255 -
	745575	ASHOK KUMAR MESHRAM	Male	M. Sc./Mathematics/1	Fresh	8	820	6560	0	1015	1015	7575
1	115652	LUBHASH KUMAR DHRUWE	Male	M. Com/Business Administration/1	Fresh	8	530	4240	0	1015	1015	5255
	500107	MOTILAL DHURVE	Male	PGDCA/Computer Application/1	Fresh	8	530	4240	0	1015	1015	\$255
Declaratio	<u>.</u>	a support	-	100							-	
		ents studying in this institut										14

Place Date

(Signature & Principal of the Insti Gevt. Nehru R.S. College

ad of the Institution)

Sanction Re Government of Cf	gister for Scholarsh	nip		•						270 C	
Sch	olarship Scheme : ⁴ Post Matric : Category : ST Institute Name : GOVT.NEHI Academic Year : 2016 - 17				1				lumber : N/	overnment of Chh 6/1986/2/7/73720 v01/2017 esh	
Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amou
522751	DEVGAN KORRAM	Male	PGDCA/Computer Application/I	Fresh	8	530	4240	0	1015	5 1015	53
390929	ROHIT KUMAR	Male	M. A./History/I	Fresh	8	530	4240	0	1015	5 1015	5
1281353	SANTRAM MANDAVI	Male	M. A./History/I	Fresh	8	530	4240	0	1015	5 1015	57
1297111	KU KIRAN	Female	M. A./History/I	Fresh	8	530	4240	0	1015	1015	57
1146038	YOGENDRA MANDAVI	Male	M. A./Economics/I	Fresh	8	530	4240	0	1015	1015	52
922824	VICKY KUMAR CHANDRAWANSHI	Male	M. A./Geography/I	Fresh	8	530	4240	0	1015	1015	57
1220966	ROHIT KUMAR	Male	M. A./Geography/I	Fresh	8	530	4240	0	1015	1015	52
1022889	AJAY KUMAR	Male	B. Sc./Science/I	Fresh	9	300	2700	0	845	845	35
1242915	CHUNESWAR KORRAM	Male	B. Sc./Science/I	Fresh	9	570	5130	0	845	845	59
1255496	SUBHASH CHANDRAWANSHI	Male	B. Sc./Science/I	Fresh	9	300	2700	0	845	845	35
1255621	BHUNESHWAR KANWAR	Male	B. Sc./Science/I	Fresh	9	300	2700	0	860		35
1257833	PUNEET KUMAR KANWAR	Male	B. Sc./Science/I	Fresh	9	570	5130	0	845		597
1257978	DINESH KUMAR KANWAR	Male	B. Sc./Science/I	Fresh	8	300	2400	0	845		324
1259414	DEENDAYAL KANDARA	Male	B. Sc./Science/I	Fresh	8	300	2400	0	845		324
1264081	PREETI CHANDRAWANSHI	Female	B. Sc./Science/I	Fresh	9	300	2700	0	845		354
1274265	LIKESHWARI MANDAVI	Female	B. Sc./Science/I	Fresh	9	300	2700	0	845	845	354

Declaration :

scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place :

Date :

NIC

Page 2/8

(Signature & Sealof Head of the Institution) Name (Capitor Listers) Gavt. Nehru R.G. Chilege DONGARGARHal Printed on 1/30/2017 This Sanction is anony DONGARGARHal Printed on 1/30/2017

30

Government o		2.00		12.01	1111		-			1108	
	Scholårship Schems : Post Mate Category : "ST Institute Name : GOVT.NI Academic Year : 2016 - 17	EHRU COLLEGI						Sanction No Sanction Applications	imber : N/6 Date : 25/	vernment of Chil /1986/2/7/7372/ 01/2017	
Application	ID Student Name	Gender	Course	Туре	No. of	Rate	Maintenence		10000	Total Fee	Total Amoun
1279	670 PRIYANKA KANWAR	Female	B. Sc./Science/I	Fresh	Month 9	300	Allowance 2700	0	845	845	35
1280	572 CHUMMAN KANWAR	Male	B. Sc./Science/I	Fresh	8	300	2400	0	845	845	
1280	770 MORAJDHWAJ CHANDRAWANSHI	Male	B. Sc./Science/I	Fresh	9	570	5130	0	845		59
128	593 DEEPAK KUMAR	Male	B. Sc./Science/I	Fresh	8	300	2400	0	845	845	32
128	762 DURGA DHURVE	Female	B. Sc./Science/I	Fresh	8	300	2400	0	845	845	324
128.	304 LEKHRAM MARKAM	Male	B. Sc./Science/I	Fresh	9	300	2700	0	845	845	354
128	669 DINESH KUMAR	Male	B. Sc./Science/I	Fresh	9	300	2700	0	845	845	354
128	086 GAYATRI KUNJAM	Female	B. Sc./Science/I	Fresh	9	300	2700	0	845	845	354
128	517 UMASHANKAR CHANDRAVANSHI	Male	B. Sc./Science/I	Fresh	9	300	2700	0	845	845	354
129	530 MANESH KUMAR	Male	B. Sc./Science/1	Fresh	9	300	2700	0	845	845	354
129	605 VIRBHADRA NETAM	Male	B. Sc./Science/1	Fresh	9	300	2700	0	845	845	354
129	772 BISANTINE TARAM	Female	B. Sc./Science/I	Fresh	9	300	2700	0	845	845	354
129	654 RUPESH KUMAR	Male	B. Sc./Science/I	Fresh	8	300	2400	0	845	845	324
130	048 YUGLESH KUMAR	Male	B. Sc./Science/1	Fresh	8	300	2400	0	845	845	324
130	1570 GANPAT KUMAR CHANDRAWANSHI	Male	B. Sc./Science/I	Fresh	9	300	2700	0	845	845	3545
Declaration	1					1					
serial no. 1 to scholarship fo candidate ha	students studying in this inst I do here by sanctioning rm attached with certified co re been kept safely in the offi ular scholarship/stipend the f	a sum of Rs py of mark sh ce and will be	Out of which R eet of passing last quali subject to verification of	lsas main fying exam, cast of competent aut	tenance allowa e certificate of hority. In case	ince and Rs. candidate ar the applican	as tuit ad annual incom t leaves institut	ion and other the of Parents/ ion or otherw bend from the	fees. Printe Guardian fro ise discontir period II is	d copy of onlin om all sources nues the studie detected.	ne of the es or accepts
Date ;								NOTA	Nehrol	6. Colleg	(ution)
and the second s			Page 3/8		1000	10.00	This San	Dist:	DONGAR Rainand	GARH	d on 170/2017

* Scho	Marship Scheme : Post Matric Category : ST Institute Name : GOVT.NEF Academic Year : 2016 - 17					•	•	Sanction Nur	mber : N/6/ Date : 25/0		Misgarh
Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amou
	Fageshwar Kumar chandrawanshi	Male	B. Sc./Science/I	Fresh	9	570	5130	0	845	845	5
748013	YOGESH KUMAR KANWAR	Male	B. Sc./Science/1	Fresh	8	300	2400	0	845	845	3
	SANDEEP KUMAR CHANDRAWANSHI	Male	B. Sc./Science/I	Fresh	9	300	2700	0	845	845	3
943852	DHANESH KUMAR GOND	Male	B. Sc./Science/I	Fresh	9	300	2700	0	845	845	3
1016120	LOKESH GOND	Male	B. Sc./Science/I	Fresh	9	300	2700	0	845	845	3
1304808	ASHA KANWAR	Female	B. Sc./Science/I	Fresh	9	300	2700	0	845	845	3
1286372	ALKA GARAHAT	Female	B. Com./Commerce/I	Fresh	9	300	2700	0	845	845	
1287314	MAMTA DHURVE	Female	B. Com./Commerce/I	Fresh	9	300	2700	0	845	845	3
1288989	HIRULAL CHANDRAVANSHI	Male	B. Com./Commerce/I	Fresh	9	300	2700	0	845	845	3
1289231	MANISH KUMAR CHANDRAVANSHI	Male	B. Com./Commerce/I	Fresh	9	300	2700	0	845	845	3
1293973	PANKAJ KUMAR CHANDRAWANSHI	Male	B. Com./Commerce/I	Fresh	9	300	2700	0	845	845	3
440601	manoj Kumar	Male	B. Sc./Science/I	Fresh	9	570	5130	0	845	845	55
1278020	PAWAN KUMAR	Male	B. Com./Commerce/I	Fresh	9	300	2700	0	845	845	35
1294137	ROMENDRA KUMAR THAKUR	Male	B. Com./Commerce/I	Fresh	9	300	2700	0	845	845	35
1294305	LOKESH KUMAR CHANDRAWANSHI	Male	B. Com./Commerce/I	Fresh	9	300	2700	0	845	845	35
scholarship form a candidate have be	lents studying in this institu I do here by sanctioning a s sttached with certified copy en kept safely in the office scholarship/stipend the fac	of mark sh and will be	eet of passing last qualify subject to verification of	ing exam, caste competent auth	enance allowar certificate of c ority. In case ti	ice and Rs andidate ani ne applicant	as tuitio d annual income leaves institutio	n and other fe of Parents/Gu n or otherwise	es. Printed ardian from	copy of online n all sources o	2

Dete	P	la	ce	

NIC

Page 4/8

Narfieresbuilt etreuiP.G. Collage QONGARGARH Olst. Rajnandgeon (C.G.) This Sanction is generated by Scholanshe Portal. Printed on 1/30/2017

Sơ	olarship Scheme : Post Matri Category : ST Institute Name : GOVT.NE Academic Year : 2017 - 18	HRU COLLEG						State Sanction Number Sanction Date Applications Type	: R/7/ : 01/0		
Application ID	Student Name	Gender	Course	Турс	No. of Month	Rate	Maintenence Allowance	Tuition Fee Othe	r Fee		omA liste
73467	Dogendra No	Male	B. Sc./Science/III	Renewal	10	570	5700	0	845	845	
	Omprakalin Ulkey	Male	B. A./Arts/II	Renewal	10	570	5700	0	845	845	
	GEETA SONWANI	Female	B. A./Arts/II	Renewal	10	300	3000	0	845	845	
	CHUNESWAR KORRAM	Male	B. Sc./Science/II	Renewal	10	570	5700	0	845	845	6
	I HIRARAM KANWAR	Male	B. A./Arts/II	Renewal	10	300	3000	0	845	845	3
	MORAJDHWAJ	Male	B. Sc./Science/II	Renewal	10	570	5700	0	845	845	6
137155	DULESHWARI KANWAR	Female	B. A./Arts/III	Renewal	10	300	3000	0	845	845	38
140273	9 RAHUL KUMAR THAKUR	Male	B. Sc./Science/III	Renewal	10	300	3000	0	845	845	38
144600	9 ARVIND KUMAR DHURWE	Male	B. A./Arts/II	Renewal	10	300	3000	0	845	845	38
145994	4 KU KIRAN	Female	B. A./Arts/II	Renewal	10	300	3000	0	845	845	36
	9 POOJA KANWAR	Female	B. A./Arts/II	Renewal	10	300	3000	0	845	845	38
	9 Dharmik Mandavi	Female	B. A./Arts/III	Renewal	10	300	3000	0	845	845	38
	9 ROHIT KUMAR	Male	M. A./History/III	Renewal	10	530	5300	0	1015	1015	63
	8 PURAN LAL PURAM	Male	M. Sc./Mathematics/II	Renewal	10	530	5300	0	1015	1015	63
	S ASHOK KUMAR MESHRAM	Male	M. Sc./Mathematics/III	Renewal	10	820	8200	0	1015	1015	92
	2 HEMLATA DHURVE	Female	B. A./Arts/II	Renewal	10	300	3000	0	845	845	38
	8 POOJA DHRUVE	Female	B. A./Arts/III	Renewal	10	300	3000	0	845	845	39
serial no. 1 to scholarship form	udents studying in this instit i do here by sanctioning a .attached with certified cop oeen kept safely in the offic r scholarship/stipend the fa	sum of Rs by of mark sh	eet of passing last qualify	ing exam, caste	certificate of	candidate a	nd annual incom it leaves instituti scholarship/stip	e of Parents/Guard on or otherwise dis end from the perio (Signature Princ G dute Nen ra DONGA	lian from scontinu it is d RBOR RBOR	m all sources of ues the studies of detected. ad of the institut College	the or accepts ion)
					and the second			tion is generation by	doan	m (C Q)	

Schol	arship Scheme : Post Matric S Category : ST Institute Name : GOVT.NEHF Academic Year : 2017 - 18							Sanction Nu Sanction Applications	umber : R/7 Date : 01/	vernment of Chh 7/1986/2/7/82369 02/2018 newal	
Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amos
043853	DHANESH KUMAR GOND	Male	B. Sc./Science/II	Renewal	10	300	3000	0	845		3
	YOGESH KUMAR NETAM	Male	B. Com./Commerce/II	Renewal	10	300	3000	0	845		3
	KHILAWAN KUMAR	Male	B. Com./Commerce/III	Renewal	10	570	5700	0	845	845	6
		Female	B. Sc./Science/III	Renewal	10	300	3000	0	845	845	3
	MADHURI CHANDRAVANSHI LUBHASH KUMAR DHRUWE	Male	M. Com./Business Administration/III	Renewal	10	530	5300	0	1015		6
1121705	BIMLA CHANDRAWANSHI	Female	B. Sc./Science/III	Renewal	10	300	3000	0	845	845	3
	REVTI KANWAR	Female	M. A./Geography/III	Renewal	10	530	5300	0	1015		6
	TILESHVAR KUMAR KANVAR	Male	B, A./Arts/III	Renewal	10	300	3000	0	845	845	3
	YOGENDRA MANDAVI	Male	M. A./Economics/III	Renewal	10	530	5300	0	1015		6
	JITENDRA KUMAR	Male	B. Com./Commerce/III	Renewal	10	570	5700	0	845	845	6
	SEWAK RAM PADOTI	Male	B. Com./Commerce/II	Renewal	8	300	2400	0	845	845	3
	I KAMLESH KUMAR KOMRA	Male	B. Com./Commerce/II	Renewal	10	300	3000	0	845	845	3
		Male	B. A./Arts/II	Renewal	10	300	3000	0	845	845	3
	2 KHILESHWAR NETAM	Male	B. Sc./Science/II	Renewal	10	300	3000	0	845	845	3
	6 SUBHASH CHANDRAWANSHI	Male	B. Sc./Science/II	Renewal	10	300	3000	0	845	845	3
	1 BHUNESHWAR KANWAR 4 NEMU KUMAR CHANDRAVANSHI	Male	B. Com./Commerce/II	Renewal	10	300	3000	0	845	845	3
serial no. 1 to	udents studying in this institu I do here by sanctioning a h attached with certified cop been kept safely in the office ir scholarship/stipend the fa	y of mark st	neet of passing last qualify	ying exam, cast	e certificate of	candidate a	nd annual incom	te of Parents/ ion or otherw pend from the (Signature	Guardian fr vise discont e period a & sear of the sear of the	rom all sources inues the studi detected.	of the es or accept gution)
DIIC			Page 2/5				This Sar			anahip Portal. Prir	

Sanction Reg	ister for Scholarsh attisgarh	ip				'				528	
	arship Scheme : Post Matric S Category : ST Institute Name : GOVT.NEHF Academic Year : 2017 - 18							State Sanction Number Sanction Date Applications Type	R/7/1	2/2018	
Application ID	Student Name	Gender	Course	Type	No. of Month	Rate	Maintenence Allowance	Tuition Fee Other	r Fee	Total Fee	Total Amou
1264081	PREETI CHANDRAWANSHI	Female	B. Sc./Science/II	Renewal	10	300	3000	0	845	845	38
1281353	ANTRAM MANDAVI	Male	M. A./History/II	Renewal	10	530	5300	0	1015	1015	63
1281453	SHAILY KANWAR	Female	B. A./Arts/II	Renewal	10	300	3000	0	845	845	36
1284777	ISHWARI CHANDRAWANSHI	Female	B. A./Arts/III	Renewal	10	300	3000	0	845	845	38
1286232	KU YASHODA	Female	B. Sc./Science/III	Renewal	10	300	3000	0	845	845	38
	ALKA GARAHAT	Female	B. Com./Commerce/II	Renewal	10	300	3000	0	845	845	38
1288658	AGESHWAR KUMAR	Male	B. A./Arts/II	Renewal	10	300	3000	0	845	845	38
	HIRULAL CHANDRAVANSHI	Male	B. Com./Commerce/II	Renewal	10	300	3000	0	845	845	38
1289517	UMASHANKAR CHANDRAVANSHI	Male	B. Sc./Science/II	Renewal	10	300		0	845	845	38
1293973	PANKAJ KUMAR CHANDRAWANSHI	Male	B. Com./Commerce/II	Renewal	10	300		0	845	845	38
1296654	RUPESH KUMAR	Male	B. Sc./Science/II	Renewal	10	300		0	845		530
1297111	KU KIRAN	Female	M. A./History/II	Renewal	10	530		0	1015	1015	38
1325648	TUMMAN KANWAR	Male	B. Com./Commerce/II	Renewal	10	300		0	845		30
1333096	TIKESHWAR MANDAVI	Male	B. Sc./Science/III	Renewal	10	300		0	845 845	845 845	50
1336500	FAGURAM CHANDRAWANSHI	Male	B. Com./Commerce/III	Renewal	10	570		0		845	38
	KU KIRAN	Female	B. Com./Commerce/III	Renewal	10	300	3000	0	845	645	30
serial no. 1 to	dents studying in this institu I do here by sanctioning a attached with certified cop een kept safely in the office scholarship/stipend the fac	of mark s	heet of passing last qualify	ing exam, cast	e certificate of	candidate a	nd annual incor nt leaves institu f scholarship/sti	ne of Parents/Guar tion or otherwise d pend from the peri (Signature & Se NGRVE NO	dian fro iscontir od it is Princif	an all source nues the stud detected.	s of the lies or accep titution) ge
In the local			Page 3/5		7.88		This Sa	DIST. Ka notion is generated by	Ipano	gaph IC-	nd on 2/1/20
NIC			Page 3/5				This Sa	OISTL Ra	Inand	19399.1C-5	Red

Government of Chi	gister for Scholars hattisgarh	nip									
	Iarship Scheme : Post Matric Category : ST Institute Name : GOVT.NEH Academic Year : 2017 - 18		•					Sanctio		emment of Chih 1986/2/7/82369 2/2018	Contraction of the second
Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amour
	BHARTI NETAM	Female	M. Sc./Zoology/III	Renewal	10	530	5300	0	1015	1015	63
	KHILESHWARI BAKHARE	Female	M. Sc./Mathematics/II	Renewal	10	530	5300	0		1015	
	SUNIL KUMAR	Male	B. Sc./Science/III	Renewal	10	300		0		845	
	GHANSHYAM KUMAR CHANDRAWANSHI	Male	M. Sc./Zoology/II	Renewal	10	530		0		1015	
1372754	SUNITA UIKEY	Female	B. A./Arts/II	Renewal	10	300	3000	0	845	845	38
	POONAM CHANDRAWANSHI	Female	M. A./Economics/III	Renewal	10	530		0		1015	
	MANISHA SORI	Female	B. Sc./Science/II	Renewal	10	300		0		845	
	PRIYANKA KANWAR	Female	B. Sc./Science/II	Renewal	10	300		0		845	
1390000	NARENDRA KUMAR	Male	B. A./Arts/II	Renewal	10	300		0		845	
	YOGITA KANDRA	Female	B. Sc./Science/II	Renewal	10	300				845	
1401657	ABHISHEK MANDAVI	Male	B. Com./Commerce/II	Renewal	10	300	3000			845	
1401790	VED KUMAR	Male	B. A./Arts/III	Renewal	10	300	3000			845	
1412282	NAINA KORRAM	Female	B. A./Arts/II	Renewal	10	300				845	the state of the s
1425057	KUMARI YAMUNA	Female	M. A./Hindi/III	Renewal	10	530					
1427829	TAMIN NETAM	Female	B. A./Arts/II	Renewal	10	300		1.0.		1015	-
1436265	TEI RAM	Male	B. A./Arts/III	Renewal	10	300				845	
1439771	URWASHI KANWAR	Female	B. A./Arts/II	Renewal	10	300				845	3

Declaration :

Page 4/6

Place : Date :

MIC

(Signature &

(Signature & SPHINCIAA) NGevt. Nahru, P.C. College DONGARGARH Diett. Rajnandgaon (C.G.)

This Sanction is generated by Scholarship Portal, Printed on 2/1/2018

	Scholarship Scheme : Post Matr Category : ST Institute Name : GOVT.NE Academic Year : 2018-19			-				Sanction N Sanctio Application	lumber : N/8/ n Date : 19/0	ernment of Chi 1986/2/7/88052 3/2019	
Application	ID Student Name	Gender	Course	Туре	No. of		taintenence		Other Fee	Total Fee	Total Amount
333	699 Dharmik Mandavi	Female	M. A./Pal. Science/I	Fresh	Month	530	Allowance 4240	0	1245	1245	548
	308 BHARTI NETAM	Female	PGDCA/Computer Application/I	Fresh	8	530	4240	0	1420	1420	566
	135 Dinesh Kumar Shandilya	Male	M. Sc./Zoology/I	Fresh	8	530	4240	0	1245	1245	548
	68 KHAMESH CHANDRAWANSHI	Male	M. A./History/I	Fresh	8	530	4240	0	1245	1245	548
	53 ASRAM MANDAVI	Male	PGDCA/Computer Application/I	Fresh	8	530	4240	0	1420	1420	566
	79 GIRIRAJ KISHOR 54 DURJAN KUMAR	Male	M. A./Hindi/I	Fresh	8	530	4240	0	1245	1245	548
	20 ANJIT KUMAR	Male	M. A./Hindi/I	Fresh	8	530	4240	0	1245	1245	548
	3 DUNESHWAR KANWAR	Male	M. A./Economics/I	Fresh	8	820	6560	0	1245	1245	780
	7 ISHWARI CHANDRAWANSHI	Male	M. Sc./Zoology/I	Fresh	8	530	4240	0	1245	1245	548
	7 KIRAN CHANDRAWANSHI	Female	PGDCA/Computer Application/I	Fresh	8	530	4240	0	1420	1420	566
	6 TIKESHWAR MANDAVI	Female	B. Com./Commerce/I	Fresh	8	300	2400	0	1035	1035	343
	NARAYAN KUNJAM	Male	M. Sc./Zoology/I	Fresh	7	530	3710	0	1245	1245	495
	KAMIN KANWAR	Male	B. Sc./Science/I	Fresh	8	300	2400	0	1035	1035	3435
	BIMLA CHANDRAWANSHI	Female	B. Com./Commerce/I	Fresh	8	300	2400	0	1035	1035	3435
1121/3:	DINICA CHANDRAWANSHI	Female	PGDCA/Computer Application/I	Fresh	8	530	4240	0	1420	1420	5660
scholarship form a candidate have be	ents studying in this institutio I do here by sanctioning a sun tached with certified copy of en kept safely in the office an cholarship/stipend the fact w	mark sheet	of passing last qualifying	ng exam, caste ce	ertificate of car	ididate and an	nnual income	of Parents/	fees. Printed	copy of onlin	

ni Type : Fresh Total Fee Total Fee Total Ann 1245 1245 1425 1245 1425 1245 1425 1245 1425 1245 1425 1225 1425 1225 1425 1225 1425 1225	Sendion Number : NIBH Sendion Date : 1903 Applications Type : Free Initian Fee Other Fee 0 1245 0 1035 0 1265 0 1035			No. of Month 8 9	E DONGARGARH Course Tr M. Sc./Mathematics/I Fresh		Scholanship Scheme : Post Matri Category : ST Institute Name : GOVT.NE Academic Year : 2018-19 Application 1D Stateme
Other 19403/2019 Other Fresh Total Free Total Are 1245 1245 1245 1245 1025 1025 1235 1235 1025 1025 1225 1025 1025 1025 1025 1025 1025 1225 1025 1025 1025 1225 1025 1025 1025 1225 1225 1225	Senction Date : 1910 Applications Type : Free Traition Fee Other Fee 0 1245 0 1035 0 1245 0 1035 0 1035	Allowance T 6550 2700 4240	820 300	Month 8	Course Tr M. Sc./Mathematics/I Fresh	Gender	Institute Name GOVT.NE Academic Year 2018-19 Application ID Student Name
ni Type : Fresh Total Fee Total Fee Total Ann 1245 1245 1425 1245 1425 1245 1425 1245 1425 1245 1425 1225 1425 1225 1425 1225 1425 1225	Applications Type : Free Other Fee Other Fee 0 1245 0 1285 0 1285 0 1285 0 1285 0 1285 0 1285 0 1235 0 1035	Allowance T 6550 2700 4240	820 300	Month 8	Course Tr M. Sc./Mathematics/I Fresh	Gender	Academic Year 2018-19 Application ID Student Name
Other Fee Total Fee Total Am 1245 1245 1245 1025 1235 125 1025 1255 1255 1035 1255 1255 1035 1255 1255 1035 1255 1255 1035 1255 1255 1035 1255 1255 1035 1255 1255 1035 1255 1255	Tuition Fee Other Fee 0 1245 0 1035 0 1245 0 1245 0 1235 0 1035 0 1035	Allowance T 6550 2700 4240	820 300	Month 8	M. Sc./Mathematics/I Fresh		Application ID Student Name
1245 1245 1025 1025 1245 1245 1025 1025 1025 1025 1025 1025 1025 1025 1025 1025 1025 1025	0 1245 0 1035 0 1245 0 1245 0 1035 0 1035	Allowance 6560 2700 4240	820 300	Month 8	M. Sc./Mathematics/I Fresh		ESTERIO SCHOOL ST
1035 1035 11245 11245 1035 1035 1035 1035 1035 1035 1035 1035 1035 1035 1035 1035 1035 1035	0 1035 0 1245 0 1035 0 1035	2700 4240	300			Male	
1245 1245 1025 1025 1035 1025 1035 1025 1035 1025 1035 1025 1035 1025 1035 1025 1035 1025 1035 1025	0 1245 0 1035 0 1035	4240		9			1410836 DINESH KUMAR KANWAR
1025 1025 1025 1025 1025 1025 1025 1025 1025 1025 1025 1025	0 1035 0 1035		520		B. Sc./Science/I Fresh	Male	1466253 SUNIL KUMAR
1035 1035 1035 1035 1035 1035 1035 1035 1035 1035 1035 1035	0 1035	2700	330	8	M. A./Hindi/I Fresh	Female	1471616 MILO NETAM
1035 1035 1035 1035 1035 1035 1035 1035 1035 1035			300	9	B. A./Arts/I Fresh	Male	1481717 FIROD KUMAR
1035 1035 1035 1035 1035 1035	0 1035	2400	300	8	B. A./Arts/I Fresh	Male	1486412 HEMLAL KANWAR
1035 1035 1035 1035 1035 1035		2400	300	8	B. A./Arts/I Fresh	Female	1486919 HUMAN PADOTI
1035 1035 1035 1035	0 1035	2700	300	9	B. Sc./Science/I Fresh	Male	1487943 KAMLESH KUMAR
1035 1035		2400	300	8	B. A./Arts/I Fresh	Male	1488083 KISHOR KUMAR
		2400	300	8	B. A./Arts/I Fresh	Male	1488231 GULSHAN KUMAR
		2700	300	9	B. Sc./Science/I Fresh	Female	1488419 RAMTIKA MANDAVI
			300	9	B. Com./Commerce/I Fresh	Female	
			300	9	B. A./Arts/I Fresh	Female	
			300	9	B. Sc./Science/I Fresh	Female	
			300	8	B. Sc./Science/I Fresh	Female	
			300	8	B. A./Arts/I Fresh	Female	
			300	9	B. Sc./Science/I Fresh	Male	
			300	9	B. A./Arts/I Fresh	Female	
				9	B. A./Arts/I Fresh	Female	1494809 MADHU KORRAM
1035 1025	0 1035	2700			A CONTRACTOR OF THE OWNER		Declaration :
1025 1025 1025 1025 1025 1025 1025 1025 1025 1025 1025 1025 1025 1025 1025 1025 1025 1025 1025 1025	0 10255 0 10255 0 10255 0 10255 0 10255 0 10255 0 10255 0 10255 0 10255 0 10255	2700 2700 2700 2700 2400 2400 2700 2700	300 300 300 300 300 300 300 300 300	9 9 9 8 8 8 9 9 9 9	B. Com/Commerce/I Fresh B. A./Arty/I Fresh B. S./Science/I Fresh B. S./Science/I Fresh B. S./Science/I Fresh B. A./Arty/I Fresh	Female Female Female Female Male Female Female Female	1488792 KHOMIN SORI 1490181 REBNA MANDAVI 1491055 GIRIA CHANDRAWANSHI 1491333 HIRALINDI NETAM 1493382 NANDANI MANDAVI 1493983 MILESKIKIMAR KANWAR 149483 KAVITA MANDAVI 149489 MADHLI KORRAM

Government of Chhattisgarh	and the second							pm.	araasa	
Scholarship Scheme : Post Ma Category : ST Institute Name : GOVT.+ Academic Year : 2018-19	HEHRU COLLEO						Sanctio	umber: N/8	ernment of Chihatt 1986/2/7/88052 13/2019 th	isgarh
Application ID Student Name	Gender	Course	Туре	No. of	Rate	Maintenence	Tuition Fee	Other Fee	Total Fee T	otal Amou
1495395 AJAY KUMAR KANWAR	Male	B. Sc./Science/I	Fresh	Month 9	300	Allowance 2700	0	1035	1035	3
1496295 LUXMI CHANDRAVANSHI	Female	B. A./Arts/I	Fresh	8	300		0		1035	3
1497293 CHANDRESH NETAM	Male	B. A./Arts/I	Fresh	9	300		0	1035	1035	3
1497522 DULESHWARI GOND	Female	B. A./Arts/I	Fresh	8	300	2400	0	1035	1035	3
1498100 CHANDAN SINGH	Male	B. A./Arts/I	Fresh	9	300	2700	0	1035	1035	3
1498297 TIKESHWARI KANWAR	Female	B. A./Arts/I	Fresh	9	300	2700	0	1035	1035	3
1498428 NIRJALA MARKAM	Female	B. A./Arts/I	Fresh	9	300	2700	0	1035	1035	3
1498504 KHILESHWAR KANWAR	Male	B. A./Arts/I	Fresh	9	300	2700	0	1035	1035	3
1503722 MAHESHWARI KANWAR	Female	B. A./Arts/I	Fresh	9	300	2700	0	1035	1035	3
1504493 SUKBATI JURESHIYA	Female	M. Sc./Mathematics/I	Fresh	8	530	4240	0	1035	1035	3
1488391 MAHESHWARI NETAM	Female	B. A./Arts/I	Fresh	9	300	2700	0	1035	1035	3
1505044 GOMTI NETAM	Female	B. A./Arts/I	Fresh	9	300	2700	0	1035	1035	3
1505404 MAHIMA THAKUR	Female	B. A./Arts/I	Fresh	9	300	2700	0	1035	1035	3
1505489 SEEMA KANWAR	Female	B. A./Arts/I	Fresh	9	300	2700	0	1035	1035	
1505516 CHANDANI KANWAR	Female	B. A./Arts/I	Fresh	9	300	2700	0	1035	1035	37
1505680 MANISHA KANWAR	Female	B. A./Arts/I	Fresh	9	300	2700	0	1035	1035	37
1506314 KAMINEE UIKEY	Female	B. A./Arts/I	Fresh	9	300	2700	0	1035		37
1507007 HARISH KUMAR	Male	B. A./Arts/I	Fresh	9	300	2700	0	1035	1035	37
Declaration :	and the second					000	0	1035	1035	37
Certified that students studying in this institu serial no. 1 to I do here by sanctioning a scholarship from attached with certified co candidate have been kept safely in the offic any other regular scholarship/stipend the far Place : Date :	e and will be s	et of passing last qualify ubject to verification of	ing exam, caste	certificate of ci	andidate an	as tuiti d annual income	on and other of Parents/	fees. Printed Guardian find ise discontin period it is Series 15	copy of online	
MIK		Page 3/9				70-0		eine	· · · · · · · · · · · · · · · · · · ·	
Read of the local division of the local divi		1 800 3/0				This Sancti	on is generated	t by Scholarsh	ip Portal. Printed o	n 3/19/201

	ship Scheme : Post Matric S Category : ST nstitute Name : GOVT.NEHR cademic Year : 2018-19							Sanction Nu Sanction Applications	mber : N/8/ Date : 19/0	emment of Chhat 1988/2/7/88052 13/2019 th	tisgarh
Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee		
1507903 SI	YA RAM	Male	B. A./Arts/I	Fresh	9	300	2700	0	1035	1035	37
	AKUN KANWAR	Female	B. A./Arts/I	Fresh	9	300	2700	0	1035	1035	37
	URAMAN KUMAR	Male	B. Sc./Science/I	Fresh	9	570	5130	0	1035	1035	61
	IOMESHWAR KUMAR	Male	B. A./Arts/I	Fresh	9	570	5130	0	1035	1035	61
1510400 B	HAGVAT KUMAR HANDRAVANSHI	Male	B. A./Arts/I	Fresh	9	570	5130	0	1035	1035	614
1510598 T	AKESHWAR KUMAR	Male	B. Com./Commerce/I	Fresh	9	570	5130	0	1035	1035	61
1511157 S	ANJULATA KANWAR	Female	B. A./Arts/I	Fresh	9	300	2700	0	1035	1035	37
1511272 D	URGA MANDAVI	Female	B. A./Arts/I	Fresh	9	300	2700	0	1035	1035	37
1512107 V	DAY KUMAR CHANDRAVANSHI	Male	B, A./Arts/I	Fresh	9	300	2700	0	1035	1035	37
1512114 Y	ATISH KUMAR SINDRAM	Male	B. A./Arts/I	Fresh	9	300	2700	0	1035	1035	37
1512699 M	IANISHA NETAM	Female	B. Sc./Science/I	Fresh	8	300	2400	0	1035	1035	34
1514669 B	HUMESH KANWAR	Male	B. A./Arts/I	Fresh	9	300	2700	0	1035	1035	37.
1516878 V	AMIN MANDAVI	Female	B. Com./Commerce/I	Fresh	9	300	2700	0	1035	1035	37
1522198 T	UKESHWARI KORRAM	Female	B. A./Arts/I	Fresh	8	300	2400	0	1035	1035	34
1523200 C	HETAN LAL	Male	B. Sc./Science/I	Fresh	8	570	4560	0	1035	1035	59
1523972 T	AMRADHWAJ KANWAR	Male	M. A./Economics/I	Fresh	8	530	4240	0	1245	1245	54
1525936 R	ESHMA KUNJAM	Female	B. Com./Commerce/I	Fresh	9	300	2700	0	1035	1035	37.
serial no. 1 to I o scholarship form att candidate have bee	nts studying in this institution do here by sanctioning a su tached with certified copy on n kept safely in the office a holarship/stipend the fact of	m of Rs of mark she nd will be s	Out of which Rs. eet of passing last qualify subject to verification of	as maint ring exam, caste competent auth	enance allowa certificate of o ority. In case t	nce and Rs. andidate an he applican	as tuiti ad annual incom t leaves instituti	on and other e of Parents, on or otherw	r fees. Printi Guardian fr vise disconti	ed copy of onlin out all sources inpes the studie	ne of the
In the second se			Page 4/9		-	2	This Sand	tion is generate	ed by Scholar	ship Portal. Prints	• / ad on 3/19/201

Scholarship Scheme : Post Matric ST Category : ST Institute Name : GOVT NEHRU Academic Year : 2019-20							State Sanction Number Sanction Date Applications Type	R/9/198 07/01/2 Renewa	020 al	
Application ID Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence T Allowance	uition Fee Othe		otal Fee Total An	
333699 Dharmik Mandavi	Female	M. A./Pol. Science/II	Renewal	10	530	5300	0	1245	1245	65
611876 YOGESH KANWAR	Male	M. A./Economics/II	Renewal	10	530	5300	0	1245	1245	65
669835 Dinesh Kumar Shandilya	Male	M. Sc./Zoology/II	Renewal	10	530	5300	0	1245	1245	65
847699 RANJU KANWAR	Female	B. A./Arts/II	Renewal	10	300	3000	0	1035	1035	40
870568 KHAMESH CHANDRAWANSHI	Male	M. A./History/II	Renewal	10	530	5300	0	1245	1245	65
	Male	M, A/Hindi/II	Renewal	10	530	5300	0	1245	1245	6
	Male	M. A./Hindi/II	Renewal	10	530	5300	0	1245	1245	65
	Male	M. A./Economics/II	Renewal	10	820	8200	0	1245	1245	9
	Female	B. Sc./Science/III	Renewal	10	300	3000	0	1035	1035	4
	Male	B. Sc./Science/III	Renewal	10	300	3000	0	1035	1035	4
	Male	B. A./Arts/III	Renewal	10	300	3000	0	1035	1035	4
	Female	B. A./Arts/III	Renewal	10	300	3000	0	1035	1035	4
	Female	B. A./Arts/III	Renewal	10	300	3000	0	1035	1035	4
	Male	B. A./Arts/III	Renewal	10	300	3000	0	1035	1035	4
	Female	B. Sc./Science/II	Renewal	10	300	3000	0	1035	1035	-
	Male	B. A./Arts/III	Renewal	10	300	3000	0	1035	1035	3
	Female	B. A./Arts/III	Renewal	10	300	3000	0	10.35	1035	
Declaration : Certified that students studying in this institutio serial no. 1 to I do here by sanctioning a sur schularship form attached with certified cory o candidate have been kept safely in the office ar any other regular scholarship/stipend the fact w Place : Date :	m of Rs of mark shi	eet of passing last qualit	ying exam, cast	e certificate of	f candidate a the applica	nd annual incor nt leaves institu	ne of Parents/Gu tion or otherwise pend from the p (Signature & Name (Ca	ardian fri discontil eriod it is	om all sources of th nues the studies or	e acce

Category : ST	ST Scholarst							: R/9/ : 07/0		attisgarft
Student Name	Gender	Course	Туре	No. of	Rate		uition Fee Oth	r Fee	Total Fee	Total Amount
DRAM CHANDRAWANSHI	Male	B. A./Arts/II	Renowal	A DESIGNATION OF TAXABLE PARTY OF TAXABLE PARTY.	300		0	1035	1035	403
JMAN NETAM	Female							1035	1035	403
KESHWAR MANDAVI	Male					5300	0	1245	1245	654
IENA KANWAR	Female					3000	0	1035	1035	403
HARMENDRA KUMAR	Male	B. Sc./Science/III	Renewal	10	300	3000	0	1035	1035	403
ASIKALA KANWAR	Female	B. A./Arts/III		10	300	3000	0	1035	1035	403
EVA RAM	Male	B. A./Arts/II	Renewal	10	300	3000	0	1035	1035	403
ARAD SINGH HANDRAWANSHI	Male	B. A./Arts/111	Renewal	10	300	3000	0	1035		
JNITA UIKEY	Female	B. A./Arts/III	Renewal	10	300	3000	0	1035	1035	
AJKUMARI PADOTI	Female	B. Sc./Science/III	Renewal	10	300	3000	0	1035	1035	
UPESH KUMAR	Male	B. Sc./Science/III	Renewal	10	300	3000	0	1035	1035	
DGESH DHRUVE	Male	B. A./Arts/II	Renewal	10	300	3000	0	1035	1035	40.
OMAN LAL	Male	B. A./Arts/II	Renewal	10	300	3000	0	1035	1035	
JNAM POORAM	Female	B. A./Arts/III	Renewal	10	300	3000	0	1035	10.35	5 40
HANESHWARI KANWAR	Female	B. A./Arts/III	Renewal	10	300	3000	0	1035	103	
OGESH KANWAR	Male	B. A./Arts/III	Renewal	10	300	3000	0	1035	5 103	s 40
	Female	B. A./Arts/III	Renewal	10	300	3000	0	103	5 103	5 40
	Eademic Year : 2019-20 Student Name Student Name DRAM CHANDRAWANSHI IMAN NETAM KESHWAR MANDAVI EKA KANWAR HARMENDRA KUMAR HARDENGA KUMAR HARDENGA KAND SINGH HARDENGA KAND SINGH HARDENGA KAND SINGH HARDENG	ademic Year : 2019-20 Student Name Gender JRAM CHANDRAWANSHI Male MAN NETAM Female MAN NETAM Female KESHWAR MANDAVI Male KESHWAR MANDAVI Male VA FAM MAIA KUNAR MALe VALAMENDIAA KUNAR Male VALAMENDIAA KUNAR Male VALAMENTIAA KUNAR Male	eademic Year : 2019-20 Student Name Gender Course JRAM CHANDRAWANSHI Male D. A./Arts/II IMAN NETAM Female D. Sc./Scienco/III IMAN NETAM Female D. Sc./Scienco/III IMAN NETAM Female D. Sc./Scienco/III IEAN KANWAR MANDAVI Male D. Sc./Scienco/III VASIKALA KANWAR Female D. A./Arts/II VASIKALA KANWAR Female D. A./Arts/II VAD SINGH Male D. A./Arts/III NAD SINGH Male D. Sc./Scienco/III NITA UKIKY Female D. A./Arts/III NUKIKY Female D. Sc./Scienco/III NITA UKIKY Female D. Sc./Scienco/III DKUMARI PADOTI Female D. Sc./Scienco/III DKUMARI PADOTI Female D. Sc./Scienco/III DKUMARI PADOTI Female D. Sc./Scienco/III DKUMARI PADOTI Female D. A./Arts/III DGESH DHRUVE Male D. A./Arts/III DMAN LAL Male D. A./Arts/III DMAN LAL Female D. A./Arts/III DMAN LAL Male D. A./Arts/III DMAN LAL Male D. A./Arts/III DMAN LAL Male D. A./Arts/III DMAN LAL Male D. A./Arts/III DGESH KANWAR Male D. A./Arts/III	eadomic Year : 2019-20 Student Namo Cencesce Excesse Exhibit Conversion DRAM CHANDRAWANSHI Male B. A./Arts/II Renewal MAN NETAM Female B. Sc./Science/III Renewal KESHWAR MANDAYI Male M. Sc./Zoshogy/II Renewal MARMENDRA KUMAR Female B. Sc./Science/III Renewal MARMENDRA KUMAR Female B. A./Arts/III Renewal MARMENDRA KUMAR Male B. Sc./Science/III Renewal NAD SINGH MALE B. A./Arts/III Renewal DADDAWANSHI Male B. Sc./Science/III Renewal DKUMARI PADOTI Female B. A./Arts/III Renewal DGESH DHRUYE Male B. A./Arts/II Renewal DGESH DHRUYE Male B. A./Arts/III Renewal DGESH DHRUYE Male B. A./Arts/III Renewal DGESH CHRUYE Female B. A./Arts/III Renewal DGESH KANWAR Female B. A./Arts/III Renewal DGESH KANWAR KANWAR Female B. A./Arts/III Renewal DGESH KANWAR Male B. A./Arts/III Renewal DGESH KANWAR Male B. A./Arts/III Renewal DGESH KANWAR Male B. A./Arts/III Renewal DGESH KANWAR KANWAR Male B. A./Arts/III Renewal	Student Name Gender Course Type No. of Month JRAM CHANDRAWANSHI Male 0. A./Atty/II Renewal 10 JRAM CHANDRAWANSHI Male 0. Sc/Scienco/III Renewal 10 IMAN NETAM Female 0. Sc/Scienco/III Renewal 10 IMAN NETAM Female 0. Sc/Scienco/III Renewal 10 IENA KANWAR Male 0. Sc/Scienco/III Renewal 10 VA RAM MANDAYI Male 0. Sc/Scienco/III Renewal 10 VA RAMARMARA Female 0. Sc/Scienco/III Renewal 10 VA RAM Male 0. Sc/Scienco/III Renewal 10 VA RAM Male 0. Sc/Scienco/III Renewal 10 VA RAM Male 0. A./Atty/II Renewal 10 VA RAM Male 0. Sc/Scienco/III Renewal 10 VA DIGH Female 0. Sc/Scienco/III Renewal 10 VA DIGH Female 0. Sc/Scienco/III Renewal 10 VA MADOAVANSHI Male 0. Sc/Scienco/III Renewal 10 VARAMA Male 0. Sc/Scienco/III Renewal 10 VARAMA Male </td <td>Student Year: 2019-20 Student Name Course Type Mo. of Rete JRAM CHANDRAWARSHI Male B. A./Atty/II Renewal 10 300 IMAN NETAM Female B. Sc./Science/III Renewal 10 300 IMAN NETAM Female B. Sc./Science/III Renewal 10 300 IEAA KAMWAR Male M. Sc./Zookogy/II Renewal 10 300 MARINDRA KUMAR Male S. Sc./Science/III Renewal 10 300 MARINDRA KUMAR Female S. Sc./Science/III Renewal 10 300 VA RAM Male S. Sc./Science/III Renewal 10 300 VA RAM Male S. A./Atty/III Renewal 10 300 VA RAM Male S. A./Atty/III Renewal 10 300 VA RAM Male S. Sc/Science/III Renewal 10 300 VA RAM Male S. Sc/Science/III Renewal <td< td=""><td>Student Year: 2019-20 Student Name Course Type No. of Month Rate Maintenence No. of Allowance JRAM CHANDRAWANSHI Male B. A./Arts/II Renewal 10 300 3000 IMAM NETAM Female B. Sc./Science/III Renewal 10 300 3000 KESHWAR MANDAVI Male M. Sc./Zoshog/III Renewal 10 300 3000 KESHWAR MANDAVI Male B. Sc./Science/III Renewal 10 300 3000 KESHWAR Female B. Sc./Science/III Renewal 10 300 3000 VA RAM Male B. Sc./Science/III Renewal 10 300 3000 VA RAM Male B. A./Arts/III Renewal 10 300 3000 VA RAM Male B. A./Arts/III Renewal 10 300 3000 VAD SINGH Male B. Sc/Science/III Renewal 10 300 3000 VADASINGH<</td><td>Bandon Yaar: 20120 December Verail: 20120 Type Mon of Month Mark Mark Applications Type Student Year: 20120 Course Type Mon of Month Mark Mark Type Mon of Month Mark Mark Mark No Type Month Mark Mark Mark Type Month Mark Mark Mark Type Month Mark M</td><td>Bardon Levar: 2012/01 Contrast Type No. of Month Participation Contrast Type No. of Month Participation Type No. of Month Participation Type Other Fee JRAM CHANDRAWANSHI Male B. A/Arta/II Renewal 10 300 3000 0 1035 IMAN NETAM Female B. Sc/Scienco/III Renewal 10 300 3000 0 1035 IENA KAMAWAR Male B. Sc/Scienco/III Renewal 10 300 3000 0 1035 MARINDRA Male B. Sc/Scienco/III Renewal 10 300 3000 0 1035 VA. RAM Male B. A/Arta/III Renewal 10 300 3000 0 1035 VA. RAM Male B. A/Arta/III Renewal 10 300 3000 0 1035 VA. RAM Male B. A/Arta/III Renewal 10 300 3000</td><td>Bandbin Year: 2010/202 Searbin Year: 2010/202 Searbin Year: 2010/202 Studint Year: 2010/201 Female 6.4/Arts/II Renewal 10 300 3000 0 10.035 10.035 JRAM CHANDRAWANSHI Male 8.4.//Arts/II Renewal 10 300 3000 0 10.035 10.035 IMAN NETAM Female 5.5.//Scienco/III Renewal 10 300 3000 0 10.035 10.035 IRAM NETAM Female 5.5.//Scienco/III Renewal 10 300 3000 0 10.035 10.035 IRAM NORA KUMAR Female 5.5.//Scienco/III Renewal 10 300 3000 0 10.035 10.035 MARINDRA KUMAR Female 6.3./Arts/III Renewal 10 300 3000 0 10.035 10.035 VA RAM Male 6.3./Arts/III Renewal 10 300 3000 0 10.035 10.035 10.03</td></td<></td>	Student Year: 2019-20 Student Name Course Type Mo. of Rete JRAM CHANDRAWARSHI Male B. A./Atty/II Renewal 10 300 IMAN NETAM Female B. Sc./Science/III Renewal 10 300 IMAN NETAM Female B. Sc./Science/III Renewal 10 300 IEAA KAMWAR Male M. Sc./Zookogy/II Renewal 10 300 MARINDRA KUMAR Male S. Sc./Science/III Renewal 10 300 MARINDRA KUMAR Female S. Sc./Science/III Renewal 10 300 VA RAM Male S. Sc./Science/III Renewal 10 300 VA RAM Male S. A./Atty/III Renewal 10 300 VA RAM Male S. A./Atty/III Renewal 10 300 VA RAM Male S. Sc/Science/III Renewal 10 300 VA RAM Male S. Sc/Science/III Renewal <td< td=""><td>Student Year: 2019-20 Student Name Course Type No. of Month Rate Maintenence No. of Allowance JRAM CHANDRAWANSHI Male B. A./Arts/II Renewal 10 300 3000 IMAM NETAM Female B. Sc./Science/III Renewal 10 300 3000 KESHWAR MANDAVI Male M. Sc./Zoshog/III Renewal 10 300 3000 KESHWAR MANDAVI Male B. Sc./Science/III Renewal 10 300 3000 KESHWAR Female B. Sc./Science/III Renewal 10 300 3000 VA RAM Male B. Sc./Science/III Renewal 10 300 3000 VA RAM Male B. A./Arts/III Renewal 10 300 3000 VA RAM Male B. A./Arts/III Renewal 10 300 3000 VAD SINGH Male B. Sc/Science/III Renewal 10 300 3000 VADASINGH<</td><td>Bandon Yaar: 20120 December Verail: 20120 Type Mon of Month Mark Mark Applications Type Student Year: 20120 Course Type Mon of Month Mark Mark Type Mon of Month Mark Mark Mark No Type Month Mark Mark Mark Type Month Mark Mark Mark Type Month Mark M</td><td>Bardon Levar: 2012/01 Contrast Type No. of Month Participation Contrast Type No. of Month Participation Type No. of Month Participation Type Other Fee JRAM CHANDRAWANSHI Male B. A/Arta/II Renewal 10 300 3000 0 1035 IMAN NETAM Female B. Sc/Scienco/III Renewal 10 300 3000 0 1035 IENA KAMAWAR Male B. Sc/Scienco/III Renewal 10 300 3000 0 1035 MARINDRA Male B. Sc/Scienco/III Renewal 10 300 3000 0 1035 VA. RAM Male B. A/Arta/III Renewal 10 300 3000 0 1035 VA. RAM Male B. A/Arta/III Renewal 10 300 3000 0 1035 VA. RAM Male B. A/Arta/III Renewal 10 300 3000</td><td>Bandbin Year: 2010/202 Searbin Year: 2010/202 Searbin Year: 2010/202 Studint Year: 2010/201 Female 6.4/Arts/II Renewal 10 300 3000 0 10.035 10.035 JRAM CHANDRAWANSHI Male 8.4.//Arts/II Renewal 10 300 3000 0 10.035 10.035 IMAN NETAM Female 5.5.//Scienco/III Renewal 10 300 3000 0 10.035 10.035 IRAM NETAM Female 5.5.//Scienco/III Renewal 10 300 3000 0 10.035 10.035 IRAM NORA KUMAR Female 5.5.//Scienco/III Renewal 10 300 3000 0 10.035 10.035 MARINDRA KUMAR Female 6.3./Arts/III Renewal 10 300 3000 0 10.035 10.035 VA RAM Male 6.3./Arts/III Renewal 10 300 3000 0 10.035 10.035 10.03</td></td<>	Student Year: 2019-20 Student Name Course Type No. of Month Rate Maintenence No. of Allowance JRAM CHANDRAWANSHI Male B. A./Arts/II Renewal 10 300 3000 IMAM NETAM Female B. Sc./Science/III Renewal 10 300 3000 KESHWAR MANDAVI Male M. Sc./Zoshog/III Renewal 10 300 3000 KESHWAR MANDAVI Male B. Sc./Science/III Renewal 10 300 3000 KESHWAR Female B. Sc./Science/III Renewal 10 300 3000 VA RAM Male B. Sc./Science/III Renewal 10 300 3000 VA RAM Male B. A./Arts/III Renewal 10 300 3000 VA RAM Male B. A./Arts/III Renewal 10 300 3000 VAD SINGH Male B. Sc/Science/III Renewal 10 300 3000 VADASINGH<	Bandon Yaar: 20120 December Verail: 20120 Type Mon of Month Mark Mark Applications Type Student Year: 20120 Course Type Mon of Month Mark Mark Type Mon of Month Mark Mark Mark No Type Month Mark Mark Mark Type Month Mark Mark Mark Type Month Mark M	Bardon Levar: 2012/01 Contrast Type No. of Month Participation Contrast Type No. of Month Participation Type No. of Month Participation Type Other Fee JRAM CHANDRAWANSHI Male B. A/Arta/II Renewal 10 300 3000 0 1035 IMAN NETAM Female B. Sc/Scienco/III Renewal 10 300 3000 0 1035 IENA KAMAWAR Male B. Sc/Scienco/III Renewal 10 300 3000 0 1035 MARINDRA Male B. Sc/Scienco/III Renewal 10 300 3000 0 1035 VA. RAM Male B. A/Arta/III Renewal 10 300 3000 0 1035 VA. RAM Male B. A/Arta/III Renewal 10 300 3000 0 1035 VA. RAM Male B. A/Arta/III Renewal 10 300 3000	Bandbin Year: 2010/202 Searbin Year: 2010/202 Searbin Year: 2010/202 Studint Year: 2010/201 Female 6.4/Arts/II Renewal 10 300 3000 0 10.035 10.035 JRAM CHANDRAWANSHI Male 8.4.//Arts/II Renewal 10 300 3000 0 10.035 10.035 IMAN NETAM Female 5.5.//Scienco/III Renewal 10 300 3000 0 10.035 10.035 IRAM NETAM Female 5.5.//Scienco/III Renewal 10 300 3000 0 10.035 10.035 IRAM NORA KUMAR Female 5.5.//Scienco/III Renewal 10 300 3000 0 10.035 10.035 MARINDRA KUMAR Female 6.3./Arts/III Renewal 10 300 3000 0 10.035 10.035 VA RAM Male 6.3./Arts/III Renewal 10 300 3000 0 10.035 10.035 10.03

Scholarship Scheme : Po Category : ST										
		rship				L. Software	20112	State : Go	vernment of Oshattis	igent
							Sanction No	anber: R/9	1986/2/7/92699	
Institute Name : G0		GE DONGARGARH					Sanction	Date : 07/0	01/2020	
Academic Year : 20	19-20						Applications	Type: Ren	eval	
Application 1D Student Nan	e Gende	r Course	Туре	No. of	Rate	Maintenence	Tuition Fee	Other Fee	Total Fee Tot	1/
1394049 CHITRAREKHA KANW	AR Female	B. A./Arts/III	Renewal	Month 10	300	Allowance 3000	0	1035	1035	40
1394178 RAMBATI KANWAR	Female	B. A./Arts/III	Renewal	10	300	3000	0	1035	1035	40
1402084 RUPESH KUMAR	Male	B. Sc./Science/II	Renewal	10	300	3000	0	1035	1035	40
1406165 GULSHAN KUMAR	Male	B. A./Arts/II	Renewal	10	300	3000	0	1035	1035	40
1406326 MANESH KANWAR	Male	B. A./Arts/III	Renewal	10	300	3000	0	1035	1035	40
1411725 PUSHPA KANWAR	Female	B. A./Arts/III	Renewal	10	300	3000	0	1035	1035	403
1413310 YAMINI MANDAVI	Female	B. Sc./Science/III	Renewal	10	300	3000	0	1035	1035	47
1413479 POORAN LAL	Male	B. A./Arts/III	Renewal	10	300	3000	0	1035	1035	403
1413929 HIMALAY KUMAR KAN		B. A./Arts/III	Renewal	10	300	3000	0	1035	1035	403
1423002 KU PARVATI	Female	B. Sc./Science/III	Renewal	10	300	3000	0	1035	1035	403
1423072 AARTI MANDAVI	Female	B. A./Arts/II	Renewal	10	300	3000	0	1035	1035	403
1427120 NIKHIL PADAUTI	Male	B. A./Arts/II	Renewal	10	300	3000	0	1035	1035	403
1430083 JUGESHWARI KANWA		B. A./Arts/III	Renewal	10	300	3000	0	1035	1035	403
1430914 CHITRAKSHI NETAM	Female	B. A./Arts/III	Renewal	10	300	3000	0	1035	1035	403
1443624 MANISH KUMAR CHANDRAWANSHI	Male	B. A./Arts/II	Renewal	10	300	3000	0	1035	1035	403
1449202 AARTI KUNJAM	Female	B. Sc./Science/III	Renewal	10	300	3000	0	1035	1035	403
1471616 MILO NETAM	Female	M. A./Hindl/II	Renewal	10	530	5300	0	1245	1245	654

	Itarship Scheme : Post Ma Category : ST Institute Name : GOVT.N Academic Year : 2019-20		mhip								
and the state of the	and the second se	EHRU COLLE		4				Sanction N Sanction	lumbor : RVG	wernment of Chi 1960/2/7/92699 01/2020 newal	
ACCOUNT OF THE O	Student Name	Gender	Course	Туре	No. of	Rate	Maintenence 1	fuition Fee	Other Fee	Total Fee	Total Amoun
	IUMAN PADOTI	Female	B. A./Arts/II	Renewal	Month		Allowance				A AND A COMPANY
	AHESHWARI NETAM	Female	B. A./Arts/II	Renewal	10	300	3000	0	1035	1035	403
	AMTIKA MANDAVI	Female	B. Sc./Science/II	Renewal	10	300	3000	0	1035	1035	403
	HOMIN SORI	Female	B. Com/Commerce/II	Renewal	10	300	3000	0	1035	1035	403
1493382 N	ANDANI MANDAVI	Female	B. A./Arts/II	Renewal	10	300	3000	0	1035	1035	403
1494483 K	AVITA MANDAVI	Female	B. A./Arts/II	Renewal	10	300	3000	0	1035	1035	4035
1494809 M	ADHU KORRAM	Female	B. A./Arts/II	Renewal	10	300	3000	0	1035	1035	4035
1496295 L	JXMI CHANDRAVANSHI	Female	B. A./Arts/II	Renewal	10	300	3000	0	1035	1035	4035
1497522 D	ULESHWARI GOND	Female	B. A./Arts/II	Renewal	10	300	3000	0	1035	1035	4035
1498297 T	KESHWARI KANWAR	Female	B. A./Arts/II	Renewal	10	300	3000	0	1035	1035	4035
1498428 N	RJALA MARKAM	Female	B. A./Arts/II	Renewal	10	300 300	3000	0	1035	1035	4035
1503722 M	AHESHWARI KANWAR	Female	B. A./Arts/II	Renewal	10		3000	0	1035	1035	4035
1504493 SL	KBATI JURESHIYA	Female	M. Sc./Mathematics/II	Renewal	10	300 530	3000	0	1035	1035	4035
1505044 GC	OMTI NETAM	Female	B. A./Arts/II	Renewal	10	300	5300	0	1245	1245	6545
1505404 M/	HIMA THAKUR	Female	B. A./Arts/II	Renewal	10	300	3000	0	1035	1035	4035
1505680 MA	NISHA KANWAR	Female	B. A./Arts/II	Renewal	10	300	3000	0	1035	1035	4035
1506314 KA	MINEE UIKEY	Female	B. A./Arts/II	Renewal	10	300	3000	0	1035	1035	4035
1509956 CH	URAMAN KUMAR	Male	B. Sc./Science/II	Renewal	10	570	3000	0	1035	1035	4035 *
Declaration :				Trentine 1	10	570	5700	0	1035	1035	6735

Scholarship Scheme : Post Matrix Category : OBC Institute Name : GOVT.NEP Academic Year : 2020-21 Application 10 Student Norma			-				Sanction Nun	nber: N/10 Date: 26/01	1	99
Application ID Student Name	Gender	Course	Туре	No. of		aintenence	Tuition Fee 0	ther Fee	Total Fee	otal Amo
449004 likendra kumar sinha	Male	M. A./History/I	AND DESCRIPTION OF	Month 4	100	Allowance 400	126	1305	1431	1
526981 NITESH KUMAR VERMA	Male	M. Sc./Mathematics/I	Fresh	4	100	400	126	1305	1431	1
725637 DIKENDRA VERMA	Male	M. Sc./Mathematics/I	Fresh	4	100	400	126	1305	1431	1
851338 PRAVEER SONI	Male	M. A./Pol. Science/I	Fresh	4	100	400	126	1305	1431	1
972797 YASHVANT KOSHTA	Male	M. Sc./Mathematics/I	Fresh	4	100	400	126	1305	1431	1
979100 TUMESH KUMAR	Male	M. Sc./Mathematics/I	Fresh	4	100	400	126	1305	1431	1
1120294 GUNJA VERMA	Female	M. Sc./Mathematics/I	Fresh	4	110	440	126	1305	1431	IJ
1134249 NITIN KUMAR LOHAR	Male	M. Sc./Zoology/I	Fresh	4	100	400	126	1305	1431	1
1138267 KAIVENDRA VERMA	Male	M. A./History/I	Fresh	4	100	400	126	1305	1431	11
1144554 LEKHA VERMA	Female	M. A./English/I	Fresh	4	110	440	0	1305	1305	17
1148525 RUPESHWAR KUMAR	Male	M. Sc./Mathematics/I	Fresh	4	100	400	126	1305	1431	18
1222659 BALWINDAR VERMA	Male	M. A./Pol. Science/I	Fresh	4	100	400	126	1305	1431	18
1237136 UMA VISHWKARMA	Female	M. Sc./Zoology/1	Fresh	4	110	440	0	1305	1305	17
1262951 CHANDRA KUMAR	Male	M. A./Hindi/I	Fresh	4	100	400	126	1305	1431	18
1265548 KAMANI VERMA	Female	M. A./Hindi/I	Fresh	4	110	440	0	1305	1305	17
1266878 ANIL KUMAR	Male	M. Sc./Zoology/I	Fresh	4	100	400	126	1305	1431	18
1284496 BHUPENDRA KUMAR SINHA	Male	M. A./English/I	Fresh	4	100	400	126	1305	1431	18
1284496 BHUPENDRA KUMAR SINHA Declaration : Certified that students studying in this institu serial no. 1 to I do here by sanctioning a scholarship form attached with certified copy candidate have been kept safely in the office any other regular scholarship/stipend the fac	tion are ent sum of Rs of mark sh	itled for post matric scho Out of which Rs. eet of passing last qualify	larship and after as mainte ing exam, caste	thoroughly ex mance allowan certificate of ca	amining the scl ce and Rs indidate and ar	holarship app as tuition nual income ves institution larship/stiper	lications includ n and other fee of Parents/Gua n or otherwise in nd from the per	ed in the at s. Printed c irdian from discontinue iodrit inder	tove proposal fi opy of online all sources of ti	rom (he accept
Place :							vt Nehruf	ABIC6II		<i>(</i> 1)
							DONGAR			

Sch	Category : OBC Institute Name : GOVT.NEP Academic Year : 2020-21							Sanction Nur	nber: N/10 Date: 26/0	h	
Application ID	Student Name	Gender	Course	Туре	No. of	Rate		Tuition Fee	Other Fee	Total Fee Tota	Amou
1300945	RUKESH KUMAR	Male	M. A./Pol. Science/1	Fresh	Month 4	100	Allowance 400	126	1305	1431	1
1306215	RAKESH SAHU	Male	M. A./Economics/I	Fresh	4	100	400	126	1305	1431	11
1341656	VARUN VERMA	Male	M. Sc./Mathematics/I	Fresh	4	100	400	126	1305	1431	11
1347282	PUSHPLATA VERMA	Female	M. Sc./Zoology/I	Fresh	4	110	440	0	1305	1305	17
1352237	JYOTI SAHU	Female	M. A./Geography/I	Fresh	4	110	- 440	0	1305	1305	17
1357506	ROSHAN CHANDRAKAR	Male	M. A./Economics/I	Fresh	4	100	400	126	1305	1431	18
1366197	DEVVASU YADAV	Male	PGDCA/Computer Application/I	Fresh	4	100	400	126	1440	1566	19
1366801	TEJESH SINHA	Male	M. A./Economics/I	Fresh	4	100	400	126	1305	1431	18
1370414	PREETI VERMA	Female	M. A./Economics/I	Fresh	4	110	440	0	1305	1305	17
1372909	LAKESHWAR KUMAR SAHU	Male	M. Sc./Mathematics/I	Fresh	4	100	400	126	1305	1431	18
1375600	TARUN KUMAR	Male	M. Com./Business Administration/I	Fresh	4	100	400	126	1305	1431	18
1379832	GAMLESH VERMA	Male	M. A./Pol. Science/I	Fresh	4	100	400	126	1305	1431	18
1383420	SANDIP KUMAR	Male	M. A./Economics/I	Fresh	4	100		126	1305	1431	18
1383568	LUKESH KUMAR	Male	M. A./Economics/I	Fresh	4	100		126	1305	1431	11
1384780	SHOBHIT RAM	Male	M. Sc./Mathematics/I	Fresh	4	100	400	126	1305	1431	18
1389220	KHILENDRA NISHAD	Male	M. A./Pol. Science/I	Fresh	4	100	400	126	1305	1431	18
serial no. 1 to scholarship form a candidate have be any other regular Place :	ents studying in this institu I do here by sanctioning a titached with certified cop en kept safely in the office scholarship/stipend the far	sum of Rs y of mark sh	eet of passing last qualifi	ying exam, cast	te certificate of	candidate a	ind annual incon nt leaves institut f scholarship/sti	ne of Parents/ tion or otherw pend from the	Guardian fr ise disconti period it is	om all sources of in nues the studies of detected.	the r acce
Date :								DOM	GARGAR	H	
							7010	Distt. Raj	nandgao	A (Const.) Printed o	

Government of Chhat Scholars	hip Scheme : Post Matric C	BC Scholar	rship					State	: Gov	www.	arh
· Ins	Category : OBC titute Name : GOVT.NEHF idemic Year : 2020-21							Sanction Numbe Sanction Date	r: N/10 a: 26/0	/1986/3/10/101869 1/2021	
Application ID	Student Name	Gender	Course	Туре	No. of	Rate	Maintenence 1	Applications Type			al Amount
1393541 MOT	TELAL SAHU	Male			Month	Harte	Allowance	CALIFORNIA MARK		1431	183
1396130 NIK	IL VAISHNAV	Male	M. A./Pol. Science/I	Fresh	4	100	400	126	1305	1431	183
	ADDHA YADAV	Female	M. A./Pol. Science/I	Fresh	4	100	400	126	1305	1305	174
	ESH KUMAR VERMA	Male	M. Sc./Mathematics/I	Fresh	4	110	440	0	1305	1305	183
	ISHA DEWANGAN	Female	M. A./Economics/I M. Sc./Zoology/I	Fresh	4	100	400	126	1305 1305	1305	174
1403431 LAL		Female	M. A./English/I	Fresh	4	110	440	0	1305	1305	174
1403504 TEK	ESHWAR PRASAD JANGHEL		PGDCA/Computer Application/I	Fresh Fresh	4	110	440 400	126	1440	1566	1966
1409437 CHE	TAN DAS	Male	M. A./Hindi/I	Fresh	4	100	400	126	1305	1431	1831
1410055 NEH	A SAHU	Female	M. Sc./Zoology/I	Fresh	4	110	440	0	1305	1305	174
	ESHWAR SAHU	Male	PGDCA/Computer Application/I	Fresh	4	100	400	126	1305	1431	1831
1413492 PRE	MLATA VERMA	Female	M. A./English/I	Fresh	4	110	440	0	1305	1305	1745
1415926 HUM		Male	PGDCA/Computer Application/I	Fresh	4	100	400	126	1440	1566	1966
	ANKA VAISHANAV	Female	M. A./English/I	Fresh	4	110	440	0	1305	1305	174
1437884 VEE	NA NISHAD	Female	M. A./Pol. Science/I	Fresh	4	110	440	0	1305	1305	174
1438129 GAN	ESHWARI SINHA	Female	M. A./Pol. Science/I	Fresh	4	110	440	0	1305	1305	1745
Declaration : Certified that students	studying in this institution	on are ent	itled for post matric sch	olarship and aft	er thoroughly ex	amining the	e scholarship ap	plications include	ed in the	above proposal f	rom G
scholarship form attac	here by sanctioning a su hed with certified copy o ept safely in the office a larship/stipend the fact o	f mark she	et of passing last qualification of	ying exam, cast f competent aut	e certificate of ca thority. In case th	andidate an ne applicant	d annual income leaves institutio scholarship/stip	e of Parents/Gua on or otherwise of	rdian fro discontin dit is	om all sources of t nues the studies o defected.	raccepts

ent Name NNGAN	Gender Female	Course	Type				Applications	Type: Fres	h	
	Female		1705	No. of	Rate		Tuition Fee	Other Fee	Total Fee T	Total Amou
		PGDCA/Computer	Fresh	Manth	110	Allowance 440	0	1440	1440	1
		Application/I	incari.		110					. 1
	Female	M. A./Pol. Science/I	Fresh	4	110	440	0	1305	1305	1
14	Female	B. Sc./Science/I	Fresh	7	70	490	115	1060	1175	1
	Female	B. A./Arts/I	Fresh	7	70		0	1060	1060	1
			200.5		70	A		-	Toronto a	1
and the second s		Contraction in the second				1				1
A MARKANCE	Catholic and a		La trajac	1.00			10011 - Tol			15
	-	and the second difference	State of the second sec					2.646.1		15
	Contraction of the							And A Description		16
	01		100000		3.5					14
<u>i</u>	(MAN) AND	Sector and the sector and	1.1.00001	-						15
										10
	and the second	Contract Contractor	1.000000							16
		the second second								15
	- 10 FUE				1250	1000				15
110	0000		and and and and	7			115	1060		19
HI A NE UUIUUU	HU WANGAN MAR EN IA IA KUMAR VERMA IA DEWANGAN MA IAR IMA IMA IMA	UU Female MANGAN Female MAR Male EN Female MA Female MA Female KUMAR VERMA Male MA Female DEWANGAN Male MA Male MA Male MA Male	Itemate B. A(Arty) IU Female B. Com/Commerce/I WANGAN Female B. A/Arty/I MAR Male B. Sc/Sdence/I MAR Male B. Sc/Sdence/I EN Female B. Com/Commerce/I IA Female B. Com/Commerce/I IA Female B. Com/Commerce/I IA Female B. A/Arts/I KUMAR VERMA Male B. Sc/Sdence/I IA Female B. Com/Commerce/I IA Female B. Com/Commerce/I IA Female B. Sc/Sdence/I IA Female B. Com/Commerce/I IA Female B. Com/Commerce/I MA Male B. Sc/Sdence/I MAR Male B. Sc/Science/I	HU Female B. A./ArtsyI Fresh NU Female B. Com./Commerce/I Fresh WANGAN Female B. A./ArtsyI Fresh MAR Male B. Sc./Science/I Fresh MAR Male B. Sc./Science/I Fresh MAR Male B. Sc./Science/I Fresh A Female B. Com./Commerce/I Fresh IA Female B. A./ArtsyI Fresh IA Female B. A./ArtsyI Fresh IA Female B. A./ArtsyI Fresh IA Female B. Sc./Science/I Fresh IA Female B. Com./Commerce/I Fresh IA Female B. Com./Commerce/I Fresh MAR Male B. Com./Commerce/I Fresh MAR Male B. Sc./Science/I Fresh	HU Pemale B. A/Arts/I Presh 7 NU Pemale B. Com//Commerce/I Presh 6 WANGAN Pemale B. A/Arts/I Presh 6 WANGAN Pemale B. A/Arts/I Presh 7 MAR Male B. Sc/Science/I Presh 7 MAR Male B. Com//Commerce/I Presh 7 KI Female B. Com//Commerce/I Presh 8 A Female B. A/Arts/I Fresh 6 KUMAR VERMA Male B. A/Arts/I Fresh 7 IA Female B. Com//Commerce/I Fresh 7 IA Female B. Com/Commerce/I Fresh 7 IA Female B. Com/Commerce/I Fresh 7 IDEWANGAN Male B. Com/Commerce/I Fresh 7 MAR Male B. Sc/Science/I Fresh 7 MAR Male B. Sc/Science/I F	HU Penale B. A/Arts/I Presh 7 NU Female B. Com/Commerce/I Fresh 6 70 WANGAN Female B. Com/Commerce/I Fresh 6 70 MAR Male B. Sc/Science/I Fresh 7 70 MAR Male B. Sc/Science/I Fresh 7 70 MAR Male B. Sc/Science/I Fresh 7 70 MA Female B. Com/Commerce/I Fresh 8 70 IA Female B. A/Arts/I Fresh 6 70 IA Female B. A/Arts/I Fresh 6 70 IA Female B. A/Arts/I Fresh 7 70 IA Female B. Sc/Science/I Fresh 7 70 IDEWANGAN Male B. Com/Commerce/I Fresh 7 55 MAR Male B. Sc/Science/I Fresh 7 55	HU Female B. A./Arts/I Fresh 7 70 490 IU Female B. Com/Commerce/I Fresh 6 70 420 WANGAN Female B. Com/Commerce/I Fresh 7 70 490 MAR Male B. Sc/Science/I Fresh 7 70 490 MAR Male B. Sc/Science/I Fresh 7 70 490 MAR Male B. Sc/Science/I Fresh 7 70 490 MA Female B. Com/Commerce/I Fresh 8 70 550 A Female B. Al/Arts/I Fresh 6 70 420 KUMAR VERMA Male B. Al/Arts/I Fresh 7 55 385 VA Female B. Al/Arts/I Fresh 7 70 490 DEWANGAN Male B. Com/Commerce/I Fresh 7 55 385 MAR Male B. C	HU Female B. A./Arts/1 Fresh 7 70 490 0 NU Female B. Com/Commerce/I Fresh 6 70 490 0 MANCAN Female B. Com/Commerce/I Fresh 7 70 490 0 MAR Male B. S./Arts/1 Fresh 7 70 490 0 MAR Male B. S.C/Science/I Fresh 7 70 490 0 MAR Male B. S.C/Science/I Fresh 7 70 490 0 MAR Female B. Com/Commerce/I Fresh 7 70 490 0 MA Female B. A./Arts/I Fresh 7 70 490 0 KUMAR VERMA Male B. A./Arts/I Fresh 7 70 490 0 DEWANGAN Male B. Sc./Science/I Fresh 7 70 490 0 DEWANGAN Male <th>HU Penale B. A/Arts/I Presh 7 70 490 0 1060 NU Female B. Com/Commerce/I Fresh 6 70 490 0 1060 WANGAN Female B. Com/Commerce/I Fresh 6 70 490 0 1060 MAR Male B. Sz/Science/I Fresh 7 70 490 0 1060 MAR Male B. Sz/Science/I Fresh 7 70 490 0 1060 MAR Female B. Com/Commerce/I Fresh 7 70 490 0 1060 IA Female B. Com/Commerce/I Fresh 8 70 550 0 1060 IA Female B. A/Arts/I Fresh 7 55 385 115 1060 IA Female B. A/Arts/I Fresh 7 70 490 0 1060 IDEWANGAN Male</th> <th>HU Female B. A./Arty/I Fresh 7 70 490 0 1060 1060 NU Female B. Com/Commerce/I Fresh 6 70 490 0 1060 1060 1060 MANCAN Female B. Com/Commerce/I Fresh 7 70 490 0 1060 1060 MAR Male B. S./Science/I Fresh 7 70 490 0 1060 1060 MAR Male B. S./Science/I Fresh 7 70 490 0 1060 1060 MAR Female B. Com/Commerce/I Fresh 7 70 490 0 1060 1060 A Female B. A./Arts/I Fresh 7 70 490 0 1060 1060 A Female B. A./Arts/I Fresh 7 55 385 115 1060 1175 MA Female B. Sc//Science/I</th>	HU Penale B. A/Arts/I Presh 7 70 490 0 1060 NU Female B. Com/Commerce/I Fresh 6 70 490 0 1060 WANGAN Female B. Com/Commerce/I Fresh 6 70 490 0 1060 MAR Male B. Sz/Science/I Fresh 7 70 490 0 1060 MAR Male B. Sz/Science/I Fresh 7 70 490 0 1060 MAR Female B. Com/Commerce/I Fresh 7 70 490 0 1060 IA Female B. Com/Commerce/I Fresh 8 70 550 0 1060 IA Female B. A/Arts/I Fresh 7 55 385 115 1060 IA Female B. A/Arts/I Fresh 7 70 490 0 1060 IDEWANGAN Male	HU Female B. A./Arty/I Fresh 7 70 490 0 1060 1060 NU Female B. Com/Commerce/I Fresh 6 70 490 0 1060 1060 1060 MANCAN Female B. Com/Commerce/I Fresh 7 70 490 0 1060 1060 MAR Male B. S./Science/I Fresh 7 70 490 0 1060 1060 MAR Male B. S./Science/I Fresh 7 70 490 0 1060 1060 MAR Female B. Com/Commerce/I Fresh 7 70 490 0 1060 1060 A Female B. A./Arts/I Fresh 7 70 490 0 1060 1060 A Female B. A./Arts/I Fresh 7 55 385 115 1060 1175 MA Female B. Sc//Science/I

Page 4/19

This Sanction is generated by Scholarship Portal. Printed on 1/26/2021

NIC



Office of the Principal Govt. Nehru PG College, Dongargarh Dist. Rajnandgaon (C.G.)

E- mail ID – collegedgg@gmail.com , Website – <u>www.qnpqcollege.in</u> **2**:07823-296011

Number of students benefited by scholarships and freeships provided by the

, voier smithatele 21000 Cur 100110 and anon and voice contra a) drag 37 631 Strate ST Strates To. 1.5). 4.2 Che (Allow z (Jien (Ch 2) () URAN HI COTA, (-dazziseou 4/2/2, Deverpi form forand -B. GOSINGOSI CFIST ENINDILA. SAR AND Jaky alia V25AN CHA 23 249131B (424/42/-1 ana ale d'ellad 21157 195135 42112181 8-210 and 200110091an 10101 2012)20 Landa malan ones Tamto ena Web Pror alencierel ytom DE12 5121811 Ollan 9 921 अपरिकार स्वडस्यों के ज्यार्ड वर्तमात हमान में रावले हुए महाविन विकासा, एव ull day (Da) EAIN H' XIAN ang Par 3 6mm malan US A PARA 000/2V TW4 WIN 6 meilgo wa zimitz val 215 (ALAS)

Government year-wise during last five years

2944 Side Pite (Sn GJA 210 190 SIN 8 Tado 1212 1991213 9-91-415 Waller F el. PUCIS TRY RIVE SNIMBEND AND RAD ATTO भहा चिह के मेड म्ल्या के को ह्यान मे Van Vaden 21 Frist yward Hona 2/20100, BUC PESTID Di DIIZ AT Welan Stin -untrease) 40,000 (-unotteren 40,000 いのなろ sinte arr ्रहारिक परिसा भे EID GIAIR GIELING aut 121981 G NG 21121 GM 2205 an E undan BUNNY ZIG TAX ANT OMMO1 4 NI N 19 0 मेन मल्या कत की ब्यानरे Dreilao 3 apal 1391(1 201190 E 19 ant NI 91.50 BRIG win R 30 477 a lay ally

90 12 O -INIT ward @ whater there Q 3 Stater HOIDERT forlad 4 2.2.17 TO TO DOTAZ (A) DER (Daulat Kn/ n-bn/ /m · 2m 2) 4 Assistent Professor, Govt, Nohra P. G. College DCNGARGARH Distt. Rajnandgaon (C.G.)



कार्यालय प्राचार्य,शासकीर नेहरू स्नातकोत्तर महाविद्यालय डोंगरगढ, जिला राजनांदर्गाव (छ.ग.)

email ID – collegedgg@Gmail.com Website – www.gnpgcollege.com #: 07823-296011 Accredited by NAAC with Grade "B" (CGPA – 2.21)

दिनाक 15/07/2021

शासकीय नेहरु स्नातकोत्तर महाविद्यालय में सन्न 2015–16 से 2020–21 तक में प्रविण्य सूची में स्थान प्राप्त करने वाले छान्न/छान्नाओं को महाविद्यालय की ओर से जनमागीदारी मद से सम्मान राशि 2000.00 (दो हजार रु मान्न) प्रदाय की जाती है।

	छার/छারা কা নাম	कक्षा	सत्र	राशि	हस्ताक्षर
01	सतीष कुमार साहू	एम.कॉम चतुर्थ सेमे.	2015-16	2000=00	Sater
02	कीर्तन यादव	एम.ए. इतिहास चतुर्थ सेमे,	2015-16	2000=00	agala.
03	कु. सिमरन कौर	एम.एस.सी. भौतिक चतुर्थ सेमे.	2017-18	2000=00	dingan
04	कु. ऋतु देवांगन	एम.एस.सी. भौतिक चतुर्थ सेमे.	2017-18	2000=00	any
05	नेहा सनोदिया	एम.एस.सी. भौतिक चतुर्थ सेमे.	2017-18	2000=00	Aleka
06	आकाश दुवे	एम.एस.सी. भौतिक चतुर्थ सेमे.	2017-18	2000=00	Alash
07	श्याम लाल पटेल	एम.ए. इतिहास	2017-18	2000=00	fer.
08	कु. नितिशा कमाले	एम.एस.सी. भौतिक चतुर्थ सेमे	2018-19	2000=00	Aunet
09	कु, नमिता निषाद	एम.एस.सी. भौतिक चतुर्थ सेमे	2018-19	2000=00	white
10	कु. ट्विंकल अग्रवाल	एम.कॉम चतुर्थ सेमे.	2018-19	2000=00	· Theme
11	कु रमनदीप कौर भाटिया	एम.कॉम चतुर्थ सेमे.	2018-19	2000=00	Mr. Birgh.
12	सुरेश कुमार वर्मा	एम.कॉम चतुर्थ सेमे.	2018-19	2000=00	Suyesh
13	नागेश कुमार	एम.ए. इतिहास	2018-19	2000=00	Aunt

डॉ. प्राचार्य

शास. नेहरू स्नातकोत्तर महाविद्यालय डोंगरगढ़ जिला–राजनांदगॉव(छ.ग.)

पा) जाउंगए भाः नेहरू दनात केतर-महारितकालच, डेंगरगढ (5-71) विखय:- प्रातीव्य क्ली कें स्थान प्राप्त विद्यार्थियों के सोत्साहत- राशि- यदान करते हेरे। 21 3 के हैं - 105 - 6 दिम्हां र्ज्ञ - लेरव- है कि 2015 - 16 देन स्का 2018 - 19 नह के वि. वि. की प्राप्त स्का 2018 कि निर्मार्थ में को प्राप्त कि मार्ग स्वी कि दिर्मार्थ के त्राज्य कि मार्ज स्वी ह दिन्ह 2000 स् ज्ञाज्य स्ति स्वी कि दिन्ह के विरुष मार्ज्य कि निर्मा करक की च्या करें। भाव थी सान् मि. इ. ट्रेने .२ वर्ग विकारा ह्याका-वाहिरण्य SUN CI premital anot Q.A.C.

कार्यालय प्राचार्य, शासकीय नेहरू स्नातकोत्तर महाविद्यालय डोंगरगढ़, जिला राजनांदगॉव (छ.ग.)

E- mail ID – collegedgg@gmail.com , Website – <u>www.gnpqcollege.in</u> #: 07823-233885 Accredited by NAAC with Grade "B" (CGPA – 2.21)

डोंगरगढ, दिनांक – 31/01/2020

यादव विश्वविद्यालय, दुर्ग की प्रवीण्य सूची में स्थान प्राप्त करने वाले विद्यार्थियों की सूची APR.C.) सत्र — 2019

विषय	रैंक	प्रतिशत
	तृतीय	74%
	चतुर्थ	72.15%
	आढवा	71%
	चतुर्थ	75.67%
	नौवा	70.92%
	विषय एम.कॉम. एम.कॉम. एम.एस.सी. भौतिकी एम.एस.सी. भौतिकी	े एम.कॉम. तृतीय एम.कॉम. चतुर्थ एम.कॉम. आठवा एम.एस.सी. भौतिकी चतुर्थ

सत्र – 2017–18 में प्रवीण्य सूची में स्थान प्राप्त करने छात्र–छात्राओं की सूची

		विषय	रैंक	प्रतिशत
क्र.	विद्यार्थी का नाम		द्वितीय	64.06%
1	नागेश कुमार	एम.ए. इतिहास		76.48%
2	कु. सिमरन कौर	एम.एस.सी. भौतिकी	प्रथम	
2	कु. ऋतु देवांगन	एम.एस.सी. भौतिकी	चतुर्थ	74.08%
3	43. 72.0 44111	एम.एस.सी. भौतिकी	आठवा	72.5%
4	कु. नेहा सनोदिया	एम.एस.सी. भौतिकी	नौवा	71.25%
5	आकाश दूबे	एम.एस.सा. नारापन	100	

<u>सत्र – 2017–18 में प्रवीण्य सूची में स्थान प्राप्त करने</u> छात्र–छात्राओं की सूची

क्र.	विद्यार्थी का नाम	विषय	रैंक	प्रतिशत
1	नागेश कुमार	एम.ए. इतिहास	द्वितीय	64.06%
2	कु. सिमरन कौर	एम.एस.सी. भौतिकी	प्रथम	76.48%
3	कु. ऋतु देवांगन	एम.एस.सी. भौतिकी	चतुर्थ	74.08%
4	कु. नेहा सनोदिया	एम.एस.सी. भौतिकी	आठवा	72.5%
5	आकाश दूबे	एम.एस.सी. भौतिकी	नौवा	71.25%

हेमचंद यादव विश्वविद्यालय, दुर्ग की प्रवीण्य सूची में स्थान प्राप्त करने वाले विद्यार्थियों की सूची

सत्र — 2019

क्र.	विद्यार्थी का नाम	विषय	रैंक	प्रतिशत
1	कु. टि्वंकल अग्रवाल	एम.कॉम.	तृतीय	74%
2	सुरेश कुमार वर्मा	एम.कॉम.	चतुर्थ	72.15%
3	कु.रमनदीप कौर भाटिया	एम.कॉम.	आठवा	71%
4	कु.नितिशा कमाले	एम.एस.सी. भौतिकी	चतुर्थ	75.67%
5	कु. नमिता निषाद	एम.एस.सी. भौतिकी	नौवा	70.92%

202 स्तर मात 41 E a 20 6 2 C y 9 2 60 C 01 11 0 32 Z C

B mons

DONGARGARH Distt. Rajnandgaon (C.G.)